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Answer either in English or in Assamese.
1. Answer the following questions as directed :
1x10=10
oo Al IR AR Teq ford

(a) Mention the name of the author of the
book ‘The Life Divine’.

“The Life Divine’ &8J«q GTIFEF 79 Srad
3401
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(d)

(e)

(9)

State any one of the limitations of
intellect according to Radhakrishnan.

PRI S0 I [P G5! Aot Srardd
|

According to Sri Aurobindo, reality is
essentially (Fill in the blank)

& SRS Ao Aoyel T
(T 512 7/ )

Intuitive knowledge is a direct/indirect
knowledge.
(Choose the correct answer)

T[T 2eF [/ 2FF e |
(v% GeF(h IR Terean)

“Man is a finite-infinite being” —Name

the philosopher associated with this
statement.

“TR 25T G IR Fal” — 3 SR
CI0® &fY® e e i B |

Mention any one form of Satyagraha.
AR R BT &P Szt 4 |

Is ‘Non-violence’ a negative term for
Gandhi ?

SRR AR SRS IO TRl *7 iR 2
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(h) Vivekananda gives importance on the
path of knowledge/path of action.
(Choose the correct answer)

R @l Tisl/ W9lE eriTe S w0y
o SREE (ow Gewn IR Oeed)

(i) Mention the Gandhian theory which
has been influenced by the book, Unto

This Last’.
Unto This Last’ &3=1 a9 geie @l
SR wEn! G 41 |

() Who is the author of the book, ‘An
Idealist view of Life’?

‘An Idealist view of Life’ ? — &34a9 (&14F
&2

2. Answer the following questions briefly :

2x5=10
OO ERPTIR B Ues (A

(a) In a broad sense, Sri Aurobindo’s
Philosophy can be called Idealistic. Give
two reasons in brief. :

77w wefe A SERive WA e T I
(PRI T | G2 AT 707 IS G SMERCHHR |
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(b)

(c)

(d)

Write two differfences between intellect
and intuition.

@ wF STe2E Aere A 75! ALy &
Explain briefly two characteristics of a
‘Satyagrahi’ in Gandhian Philosophy.
MR TS AN 75 @R ST o
3901

State fwo objections against Sri
Aurobindo’s theory of evolution.

& v [Resaama Rera 4ot 7o ot
Sled 9 |

(e) State two criticisms of Gandhi against
Industrialization.
BWANTR [0 MR 757 e Srad
Bl

Answer any four of the following questions:

5x4=20
OoTq eSS ATl Bifabie es e
(a) Explain Vivekananda’s view on

Philosophy of Education.
TRpIR voefet A0S Rl S <1<t <5t |

BO4FA 0073 4

(b)

(c)

(d)

(e)

What are the three ways of knowing
according to Radhakrishnan ? Explain.

PR 0O Sl SNRIC [Sfeib] SAR 5 2 1T
90

Explain briefly the significance of
Gandhi's statement — “Truth is God”.

“MOjR HYT” — SR G2 STETOIT O] 50T
GO < |

Explain five limitations of intellect
according to Radhakrishnan.

AFRR W© Jfard A0 Azl HI 3

Explain briefly Gandhi’s concept of
trusteeship.

SNRT TERIME GO BT PG 50|

Explain briefly five features of
Vivekananda’s cencept of Universal
Religion.
RIS N0 ARG G #Afo ([ARER 55
[T
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Answer any four of the following questions:

10x4=40

O] ePTRA ATt Bif<I O ferl |

(@)

(b)

(c)

(d)

Discuss Sri Aurobindo’s concept of
Integral Yoga.

R SRR TG @9 Gl TS SNEna
4|

Explain the salient features of Sri
Aurobindo’s theory of evolution.

P B B BT s e e G e T K )
|

Explain after Radhakrishnan the nature
of intuition. Is Intuition anti-
intellectual ? Discuss.

IR 0O TGN I TSI T T 0|
SEE Ifad R 2 SNCEAv 4 |

What is religious experience according
to Radhakrishnan? Explain the
characteristics of religious experience.

WA O 4 ool I @aT? 4w
fseeod [RFBFTE I 54 |
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(9)

(h)

BO4FA 0073 7

Explain Gandhi’s concept of non-
violence. Is it relevant to the present
day society ? Discuss.

SRS SIREN LI T T | T NS
2 AP 2 eI |

Explain Gandhi’s statement “Non-
violence is the law of species”.

“SIfRLAl AFCEN GRS ol — AR G2 FAE
wiesd G T4

Discuss: the' ' chiefilffeatures wof
Vivekananda’s Philosophy of Practical
Vedanta. How it differs from Advaita ?

6+4=10
AT IRRT @GS @ [@ESPTIR
S 41 | 3 e Sitae @S A1 5252

Explain Vivekananda’s concept of

Universal Religion. Is Universal Religion
Possible ? Give reasons to your answer.

R e A e 4309 =eTe!
it 90| A 4 A (O TS

T e SECRT |

800




